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, Which of the following are the pillars of India’s Foreign Trade Policy 2023 ?
' A. Ease of doing business

C. Export promotion through collaboratlon
E. Incentive to remission

B. Emerging areas
D.  Import substitution

0

Choose the correct answer :
(1) A, B, C and E only
(3) A, D and E only

1808 B’ 28385 DEH a3 D0 2023_Sp

2 07

v L3 582

(2) A,B,C,DandE
(4) B, C and D only

7
£y
¥ 4,

"\7 7

o ey Pozren D 2
A QOO 580 Tohdso L} B. &)y SOOFN/| 0T
S DITB0 T 507 DbSHiesoe Doy BT S0 [HS55maho
_E 8T8 ¢65%080
NBR DSTETTR DOHESDL0 -

(1) A, B, C»O8ai E Sr(essdH -

(2) A,B,C,D S8 E
(3) A, D DB E S|

(4) B, C 08050 D Sr(ebH
In India, the Index of Industrial Production is constructed on :

(1) Quarterly basis i 3 ' (2) Yearly basis

(3) Weekly basis i - (4) Monthly basis
TESTIOS, B TN0E &) 3rd) A STEOIr DB :

) | BIrDE (FSIOES 9 @) TOE DBHOLS

(B) &8 (DSIHAOES f“‘ 4) Vo8 |>BHOES

Which of the following is true in relation to NZtlonal Renewal Fund (NRF) ?

(1) Its operation period was 5 years only.

(2) It was set up in 1996.

(3) Tt provides financial assistance to public and private sector employees.

(4) Financial assistance from NRF has been provided for the Voluntary Retirement Scheme
20D HS5GSE DB (NRF) § 50206800 (808 63¢* 6 25)?

(1) & evsden (operation period) S*©0 5 05 YT e 855'@33)

2) &I 1996 &' Doryen T, ~2

3) 1020685 Sots HBA% |HawSen S0l &6‘5(‘0@)&&) & QB DS HTFONO @OANOA.

(4) 2S0DH YIRS DO 0B D HIFOTTDE D550 HSD DB HHEO EBKy ©OAT .
Which of the following statements related to: q)ne Nation One Ration Card’ is/are true ?

A. There is seamless access to rations across-India after its launch.

B. Central Government launched the SChenllfjm the year 2016.
Choose the correct answer :

(1) B only (2) Aonly p , (3) Neither AnorB  (4) Both A and B
28 B0 2.8 BAS 5% 02050 1808 IS’ IO / DD &y, ?

“BBAD B60D0DS ST ST Bodo DS BAS P EONS B IAwozw TS
FoBerD. QVHOLDN SOAF DT O,

B. S0 (202068 ¢0 &s DA ¢ 05‘ r80DoD0B.
QOB QTR D0DE DS~

(1) B Sz A ASTSTH @) A 58050 BBOST 59 (4) A 805 B Bodks

(=) &[=)
R | oA

(2) Opa)




llowing development finance institutions on the bagijg .
ﬁrr ?r?gﬁs‘:'gieafioDevelogI)ment é)ank of India (IDBI) of their year of establishment :
B. Industrial Investment Bank of India (IIBI) .
C. Industrial Credit and Investment Corporation of India (ICICT)
D. Industrial Finance Corporation of India (IFCI)
Choose the correct answer :
(1) C,B,A,D (2) D,AB,C 3) B,C,D,A 4) D,C,A B
1808 ©@DB)O D HOPOXD 8 F'VOLES DOJSIT'O STTOOM €% ok -
2708 BT ©DNH@ 2375050 (IDBI)
rEed JrOFE PG 225080 (IIBI)
2r8es B|FE DEIS HBASD DEP2E 578 )02 (ICICI)
8 B TN DS 8 )BAS (IFCI)
coBé QATPETTR)), DOTHT R : o
(1) C,B,A,D (2 D,AB,C =~ (3) B,CDA 4)
Match the following mega clusters with the: 'ié)lace of their location :
Mega Cluster : Location ¢

A. Jewellery cluster I. Bhlwandl ,1
B. Handloom cluster II. Chennai “-|

C. Leather cluster I11. Ludhianaﬁi
D. Powerloom cluster IV. Mumbai

V. Varanasi! |

o)

cn (2) A-IV; B-V; C-II; DI

(U oW R

D,C,A B

Choose the correct answer :
(1) A-I; B-V; C-1V; D-III

(3) A-IIT; B-I; C-II; D-IV (4) A-IV; B-III; C-V; D-I
1808 D ERED 57¢3Q DT=)EN TBAN (HTFOS 351G I0A :

o 96 (5550
A 2308 EJ6 L. Dod
B. T3¢ 5006 I 3J)
C. BB (Sen) 506 I erdHasror
D. 36w EN0 V. Swozd ch

V. SO ed

DB DT, DOTDTWW N
(1) A-I; B-V; C-IV; D-1II i ,(2) A-1V; B-V; C-II; D-I
(3) A-IIT; B-I; C-II; D-IV 2 (4) A-IV; BIIL C-V; DI

Which of the following statements are trues in relatlon to MICI‘O, Small and Medium Enterprises
(MSMEs) in India ? -

A. Udyam Portal was launched by the Central Government for registration of MSMEs.

B. Samadhaan Portal was launched by the Central Government for filing of grievances by MSMEs,

C. Central Government created a sub-portal within Samadhaan Portal for reporting the dues and
monthly payments to MSMEs.

D. With the help of Udyam Portal, in 202 1—-22 more than 60 lakh MSMEs registered.
Choose the correct answer :

(1) B and D only S (2) A,BandC only
(3) A, C and D only 0 (4) A and C only
as"ééof’éocﬁ‘ A8 2, V) SGIE sDOAT DS ééb‘ DBF e (MSMEs) 020500 (§08 Fspseres H
2,53)?
&~ MSME © $35¢ 8% To(& (9250e8 50 &65553 QS (Udyam Portal) & (r60D0D0A.
B, MSME en ¢ 22)0hedd (gnevances) 8O0H ToHeErdE sold (&S50 n)SSJ‘CS"cS SES &

(8000 0A.

C. MSME e» JoTd B0t 3)365‘03 50N MSME 0% U800 Sor8 Inarery,
DBOOGETDE DTS FES S 2.8 & FBS S ToS (92065 50 DT™yew FH0b.

D. ¢3S (Udyam) GS SIFOH0E, 2021-22 57065, 60 ©F © 0T %05 MSME €0 ¢k SR QY.

QBN NAFETTR), OTDT R :

(1) B &80 D Sr(ebed <27 A, B 0A5 C Sredd

(3) A, C B D Sr{ehad (4) A DB C Sr(ehad

R (3) Byg

[ORd!
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Match the following five year plans of India with their objectives/focus :

Five Year Plan Objective / Focus
A. Eleventh Plan I. Agriculture
B. Ninth Plan II. Faster and more inclusive growth
c. Fifth Plan III. Growth with social justice and equality
D. Second Plan IV. Rapid industrialisation

V. Removal of poverty

Choose the correct answer :
(1) A-II; B-III; C-V; D-IV

(2) A-V; B-III; C-I; D-IV 52
(3) A-III; B-II; C-V; D-IV (i
(4) A-II; B-V; C-IV; D-III o
2rESTE DOV DT VIOD 3763 GTTO S/ FBoDS woTed 3SHSH0E ;
B0t33P (DT DK SP50/S)n D80S @050
A DOTORS DTV 1. S AH0o -
B. S2AS WS IL  S50S6BS 00 B 5096 $530
C. 2B (DT L a3 T°5a50, 0TS 508 Erdd S90
D. Bo&d |Der D IV. 5085888 JO|TWaESen
V. 0588 dEres
DB DAFETTR), DOLHTRISW :
(1) A-II; B-III; C-V; D-IV S
(2) AV; B-III; C-I; D-IV ©

(3) A-IIL; B-II; C-V: D-IV
(4) A-II; B-V; C-IV; D-III “d

Consider the following : = i
Assertion (A) :  The liberalisation of the Indian economy in 1991 unleashed competitive markets.

Reason (R) : Compulsory licensing for the productmn of certain security and strategic related
commodities was one of the salient features of 1991 Industrial Policy Resolution.

Choose the correct answer :
(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) (A) s false, but (R) is true. \:‘
(4) (A) is true, but (R) is false. . 3)
Bod sserad HBKEBOS0A :
PO (A): 278 esBE S350 1991 ° 3))(156:6 xoéﬁ’)éém & 50,5 0% OBV,
50 (R) - 215 SO0 rsFehE HowOOES ém@o &5 )B8 SH)VH0M BRS) BErd IO
1991 8|72 :)mS HT80S” 2.8 DS @o%o.
OB DR, DOTHEDSD : L I
@ (A) 58050 (R) Bodr 2.5, 5°Q (A) & (R) SO asésa S°CD.
(A) B (R) B 2,5 DB (A) &0 (R) DOTDS DSGED.
3) (A) &), 5D R) 2.
@) (A) 2.5, 5 (R) S,

R
E (4) B



10.

11.

12.

Which of the following statements are true in relation to NITI Aayog 9
A. It was set up in 2015. '

B. Prime Minister of India acts as the Chairman of NITI Aayog,

C. Tt serves as a think tank of the government.

D. NITI Aayog aims to foster co-operative socialism among the states,
Choose the correct answer :

(1) C and D only (2);-B and C only
(3) A,Band Conly ' (45:"‘~A and D only
58 TR Ho20H0D (808 55 I 2.5)) P
A B 2015 S Domyew Tach. 7 <]

B. 27r8& |05 SHoIS S esTBrhiso TS 65@5505"6@"&/
C. (02050 TWVEy DYENE DT O (think tank) T ﬁ)@ esa3rh OJ&)Sc\:oo&'/
D. TaFO SPS AT FQITTR), 20708050 OB esTrh a3, &Y.

IV DITFETTR), DONTAW : A
(1) C B D Sr(ebsd (2) B HOAW C Sr(edad
¥ A, B 0050 C S| 4) A B80S D ST

Which of the following statements are true in relation to five year plans of India ?
A. First Five Year Plan was launched in 1951.
B. First Five Year Plan was a successful plan.

C. The Third Five Year Plan was a total failure in reaching the targets laid down at the beginning
of the Plan.

D. Annual plans were implemented for the period-;‘l.965 —1969.

Choose the correct answer : ool

(1) A, C and D only (2)"=A and B only

(3) A, B and C only (4‘). /B and C only

2rESTE HoISE DT VEDH Ho20H0N (80& nggoé‘ D 239) ? .

A S0 HoBSY DETOES 1951 &° (FE0DOT S

B. B H0USE DD 2.8 H1OEIS DS (e D8]

C. SIS HOISIE (DT DE (80250 ATFODS OF 53 FE0sE0 oM HOTOE.
D. 1965 — 1969 5708 0 |HErPEOd eDen HEL0 28A08,

DB DR, DOTVT DI : :
(1) A, C HBAW D Sr(e5d (2) A DB B Sr(¢had
(3) A, B HBAW C Sr(ebd (4), B B C S

1%
Which of the following statements is/are true in nelation to five year plans in India ?
A. For the period 1978-82, Rolling Plan was implemented.

B. The final draft of Flfth Five Year Plan was prepared by Prof K.N. Raj. \‘(‘fu
Choose the correct answer : ) s¢
(1) Bonly (2) A only (3) | Neither A nor B (4) Both A and B ?L |
TESTH0S" DS |HerDEerdd H020H0D (8o 143) SO’ DB/ 2.5) ? ; |
A 1978-82 s7erD& DB0HS @m‘@&ﬁ) SNV a)édéso 20h0&. o’

B. 0838 505858 He 9% By 085 1H& (final draft) D " 3.8, T°25 ¢5ASrdd TEC.
QOB DI JOTHEEEW :

(1) B &v(e53H (2) A ST (3) A0S BBOKr 5%y (4) ADBNSw B Bo&ye

(5) Bym

DM



13.

14.

15.

Which of the following is not a priority of 2023-24 Union Budget ?
(1) Green growth (2) Inclusive development
(3) Export promotion (4) Infrastructure and investment

806 T3S IO 2023-24 oS TS By ([ E&S5e030 5% ?
(1) TS SH& SY (@) 329 e0)IHE

(3) peddes a0 : <;;3:: 4) STOF SHSeN SHOA DEPA
Match the following pillars of NITI Aayog vx 1th their relation :
Pillar name Relation S
A. Pro-people I.  Involvement of. Citizenry
B. Transparency II. Women in all afsppcts
C. Equality II. Opportunity for the youth
D. Participation v

. Fulfilling societa} and individual aspirations

V. Respensive government
Choose the correct answer :

(1) A-II; B-III; C-V; D-I

(2) A-IIT; B-V; C-I; D-IV .
(3) A-I; B-IV; C-III; D-II

(4) A-IV; B-V; C-III; D-I 0

1808 A& eTrh Qozre (pillars) & @3 TA§ woao&oaéé‘ TE3S B3eh DS :

Dozso DD ‘ 02050 ;_3:
A RDzo-008re L. FHO a,rﬁ@;gsl&go
B. DOS8ES I &) @oTad Sirden
C. H379S50 M cwsssh essdo
D. SSWdo IV, e ma& SOHEE B30 e TEBS 0
V. @@:\)30&03 {D250es g0
QBN NPT, DOTDE W :

(1) A-IT; B-III; C-V; D-I

(2) A-III; B-V; C-I; D-IV

(3) A-I; B-IV; C-III; D-II

(4) A-IV; B-V; C-III; D-I

Arrange the following deficits as % of GDP related to Union Budget 2022-23 (Budget estimates) in
descending order : 2N

A. Revenue deficit ©) B. Primary deficit

C. Fiscal deficit o D, Effective revenue deficit
Choose the correct answer : “

(1) A,C,D, B (] @ C,D,BA
(3)BACD iJ(4)CABD

2022-23 (S evoSTren) S0 FE GODTOR H00HOD e TITre)HBS® §od e (deficits)
TEQ), I8 1§50 @K)Jdagél) &

A BIIrg Sew B @ZONISe

C. &85 Sew (fiscal deficit) D. 3% BISTg Sen
OBS QTR DOTHE AW :

(1) A,C,D, B 2 C,D,BA

(3) B,A,C,D 4) C,A,B,D

| cye
E’}l (6) Ci



16.

17.

18.

Arrange the following taxes in ascending order based on own tay

General States Average (2018-21 average) Tevenue composition of India
A. State goods and services tax (SGST) B. State excise

C. Sales tax D. Motor vehicle tax

Choose the correct answer :

(1) A,B,C,D (2 C,D,B,A . éS) 0D8,_A, B,ﬁc P @ DB G A
2rSESTE S T are DEED D0ed D) T (2018-21 OKen) S° & 1B0A % Xon on o
asgrdorr §od ;)(&ltgm c—s&‘&rev‘iééaoé‘ @358 oW : BO0 D80 aer (composition)
A TR SN VI D) (SGST) oo B R B)F

C. @250 d), | D. Jerd oFTare) NNV

QBN QWG RV), DOTVETDID 1 -

(1) A,B,C,D (2 C,D,B,A ./\""} 3) D,AB,C (4) D,B, C,A

Which of the following statements are noftwt"rue in relation to Fiscal Responsibility and Budget
Management (FRBM) Act ? (n9)

A. The Act became effective from 57 July, 2004.

B. This Act was notified by the government in 2002.

C. This Act stipulated the elimination of revenue deficit by 2014.

D. As per this Act, with the beginning of financial year 2006-07, the annual reduction in fiscal
deficit must be at least 0-5%.

Choose the answer :

(1) B and D only (2) A,B,CandD

(3) B, C and D only (4) A and C only

8% 23705565 DB DZFE A& 57 (FRBM) BETITRo00HON 18od TS DD D)) 5P ?

& B0 2373 5, 2004 OB e (effective)€S’8 SDJOO.

& HETQ), 28¢5 (D205 50 2002 ' HEE30DOA (notified).

2014 SE50 BIITS Sen BHHOT IrEoO SIHE0S” AYI0IEI0 20R08.

& O |D5B0, 2006-07 e08 HOSBIB0(NE0008, (555 S'ew (fiscal deficit) S QE P

SDINIBM™ DO 0-5% T &0, =i

NAFPETTR), ORI o

(1) B 805 D Sr(ebad {(2) A, B, CH80S» D

(3) B, C 8050 D Sr|ehad (4) A DB C Srledad

Which of the following statements are true in relation to 15 Finance Commission ?

A. For horizontal devolution, income distance criterion was given more than 40% weightage.

B. For horizontal devolution, tax and fiscal efforts were given less than 3% weightage.

C. C.Rangarajan was the Chairman of this Commission.

D. The recommendations of this Commissioxiggre applicable from 2022 to 2028.

Choose the correct answer : :';i_?!

(1) A and B only “2(2) A, CandD only

(3) A,B,Cand D “'(4) B, CandD only

15 & e0¥ H0IrI§ Ho20HOW (§0b J‘S&m@@fj@a’) ) ?

A, Q308 D) HODERE HOROHOD, SLAH KIS0 (DSTErd8 (income distance criterion) 40% %09,
DEYS (S50 (weightage) Red S0 aéﬁo’@.!

B. J3r0$8 H) DOV H020H0D, HFBY HOAD & HOhEI0F 3% Lo S$Buys S50
2N 50 26808. ’j_ '

C. . 80h02S & 0¥ HOMO L) TEIST Gar) 8.

D. & e0% HoM0 TI0E) DITEED 2022 OB 2028 SerDE SO ow.

Sawpy>

DB DITTTR), DOTHTLDSI :
(1) A SO B S 2) A, C S8 D S35
(3) A, B, C 8050 D (4) B,C 58050 D S35
(7) Ok



19.

20.

21.

22,

23.

Q o)

Which of the following statements is/are true in relation to crude death rate (CDR) of I

population ?

A. During 201419, the crude death rate was less than 7.

B. During 200611, the crude death rate was more than 7.

Choose the correct answer :

(1) B only (2) Aonly (3) Neither A nor B (4) Both AandB

ZrOSTE B2 T, S0 (crude) Sezme> Bew (CDR) & H020H0D (§06 TSDIOS’ DB/ 2,5) 7

A. 2014-19 DO5 S0SE Dezre> Bex 7 E0B SEFNT &0B.

B. 2006-11 S0C5§ Sne¥ Soderer Bew 7 08 &I 0B,

$BS DSTTRR) JOTHERLE - o/

M BSSD @) AdmsDH (3) A 000 BOOGT S (4) A SO B Body

Which of the following statements is/are correct/in relation to the infant and neonatal mortality rates

in India as per the National Family Health Survey (NFHS)—5 (2019-21) ?

A. Infant mortality rate (IMR) decrcased whén compared to National Family Health Survey
(NFHS) - 4 (2015-16),

B. Neonatal mortality rate (NNMR) decreased when compared to NFHS — 4 (2015-16).

Choose the correct answer : .

(1) B only (2) Aonly (3) Neither AnorB  (4) Both A and B

0% s&)é.noa)‘a-sﬁsrﬂs QB (NFHS)-5 (2019-21) |55°50 2% 08050 532 3% 88770 BEE $020800)
808 TSSO’ DB/ HDSE/D ?

A 2SO $oeno2 esEis Q0 (NFHS) - 4 (2015-16) &' & 305 3% 0Seae> Bew (IMR) 5506,

B. 2aad Sotnoa estig Q0§ (NFHS) -4 (2015-16) & &) 38 ¢ Sdered 36 sodere> Beén (NNMR)
S0od.

QDS DT, DOTDEF S : s |
(1) B 3D (2) A Sr(edad @) A DB BBodr sy (4) A SO B Bodks

Which of the following statements are true in rél‘a‘;ion to India’s population ?

A. Sex ratio of population is expressed as numbf;gé_i? of females per 1000 males.

B. If sex ratio of population is more than thous:larxd, it is called unfavourable sex ratio.

C. The sex ratio of population in India in 2011 was less than 1000.

Choose the correct answer : M 4

(1) A and C only (2) A and B only

(3) A,Band C pe ‘(4) B and C only

1020800 1808 T sDIOS D 205)) ?

? Z?fooao‘ggc\:g ?g)@:noévL&é; (e Sopg ErdoS ol lely m%@ gex ratio) Q 8OAHEI .
Fo ey ot DH)S Jowgs S0 E0FS &OD), AR (NAEre Dol DAY @0y,
07 2011 & 2r8ST% ey Ootf D) 1000 S0 S50 ST GOO.

., bl

ndia’s

ey
\{:(’,_ 3}

DB DT, DOTHTRDW : & s

e B 5 ooais 0 S

(3) A, B8as C (%) : _ oatos

In which of the following years was the National Population Policy annmtx;;:e 21000 ?
(3) 2020

(1) 2016 (2) 2014 ( ) )

PESTHoS 2rahH ey AR, S08 ¢3S Q"@oéégéoé‘ @écﬁoa‘dz 4?) -

(1) 2016 (2) 2014 :(3)1 2020

The total fertility rate (TFR) in India during 2015-16 as per the National Family Health Survey

(NFHS)-4 was nearly :

3 2 4) 22
M 19 2 16 (3) 25 : .
2809 Koenoe es&Hg HBS (NFHS) — 4 5560 2015-16 & 2SS0 Indo dowSS) 8 Bew (TFR
ooy - |
M 19 @ 16 @) 25 @) 22



24.

25.

26.

27.

What is thé term used in national income accoun
country’s Gross Domestic Product ?
(1) Net Domestic Product =i
3) National Income at constant prices (4) 39?1 Net Domest;c Prog

S0 Ging, o BIErS)BS Hob SHMHEO BRTFO™ 200 ey ;g

R . _ Aroraly wFos3orHes’

ting when deprapi.y.
: Preciatigy, chargeg are ded
: € deducted from a

(2) II\Iet Nationg) Product

1) DES BIOH &eh)S ‘ @) ‘?55 A &yd
3) D6 R SEOS' B erraDo (4) TRV Bk & 833

i i i in relation t
X(I:;:r}:e:i:? the following statements is/are true ition to the concepts of personal and disposable
A. ’11;11:;:1 v(;gﬁzlll_mptlon expenditure + savings of an individual is equa] t, imieile et o
B. If the personal taxes are added to disposable income of an individual, we get personal income.
Choose the correct answer :

(1) B only " (2) Aonly (3) I(}Ig.ithcrAnorB (4) Both A and B

35815 B S5AT BEFOH PSSO 2020600 §00 TS DA/ i) ?

A 28 358 T AT S000 + &P € 558 TBNE DAY STTFATFIE HSPS0.

B. 35888 D030 2.8 3558 By $50ird esmrairds @%ic}%‘fg DK S35 3TN0 SN0,

DB DT, DOTNT I : s
(1) B ST 2) A SIS (3) z%i;ga)oosn B 04> 5%y (4) A HBAS» B Bodkr
.
Who were the chairman and members of the National Income Committee set up in 1949 by the
Government of India ? &2

(1) P.C. Mahalanobis as the chairman and D.R. Gadgil and V.K.R.V. Rao as the members.

(2) V.K.R.V. Rao as the chairman and P.C. Mahalanobis and D.R. Gadgil as the members.

(3) Dadabhai Naoroji as the chairman and V.K.R.V. Rao and P.C. Mahalanobis as the members.
(4) D.R. Gadgil as the chairman and Dadabhai Naoroji and P.C. Mahalanobis as the members.
1049 ¢° 256 (HZDS 50 DTN TS 2B e E0es T, TOUS HOA HD IS 7

1) BES T 22, HFOSDD HBAM DO B.esB. TS 200 D6, TS

@) TS ™ DBEB.D. T8 S0 HFogeNMT B3, FOSDD SO 6. TGS

® TS ™ Eeron TTE Boa Siserr HIeED o5 Hocw b HIFOTR

4) BEIS ™ A.e38. MGS HOK DN TrTreron 5‘%‘8 258050 . SHTOSDR.

Which of the following is not a component of total defndnd for domestic income/output ?
(1) Investment spending by business firms [_Jl
(2) Consumption spending by households o

(¥

(3) Net borrowings from other countries

(4) Government purchases of goods and serviceg
808 e3S° DO BI0H e3craDho/e S 1B Tng), Bndo FIaH ASTOB & 25
(1) TS S0P DEPDE 53000 )

(2) &&owo DAT3FH S550H0

(3) adS Tae OB JDEG 220ET°eN

(4) D205 50 TBNEY S5:NsYEN DOAEN e Fedyffelh

i 57D ?

ORI
A \*‘!—’ }
DR

(9)



28'

29.

30.

As per the second advance estimate of national income 2022-23 released by the Ministry of
GStatistics and Programme Implementation of India, arrange the following years in ascending order
pased on the share of agriculture and allied sectors in gross value added (at current prices) in each

year:

A. 2020-21 B. 2021-22 C. 2022-23

Choose the correct answer : .

(1) B,C, A 2 C,AB 7 (3 ACB (4) C,B,A

235 DS § HETOE HOA NPT @55003 S0 DS TP DO TS BB SWOLKY 2 AreEch
0BT, 2022-23 (H5°80, 806 H0SSITD e DenS HO0HS” S5 A HBAW R0 Sore
T (VS SEOST) BErSOmT (808 HOSSITOD B (EH0S” e8I :

A. 2020-21 B. 202122 1 . C. 2022-28
3B DSPETETR) JOLHE DI L .
(1) B,C,A @ CAB .. 3 ACB 4 C,B,A

"Arrange the following states in descending order based on per capita net state domestic product of

these states (in rupees at current prices 2011-12 series) in the year 2020-21 :

A. Maharashtra B. Gujarat C. Telangana D. Andhra Pradesh
Choose the correct answer : ,
(1) C,A,B,D (2) A,B,D,C - (38) C,B,A,D (4) B,D,A,C

806 TEre® 2020-21 & @ OO SOHB DG T3 BITTS)S (Erarcheos’ WA (DS SEeS
2011-12 (3£5) SEEOMT @ITTET 5500 9080 )85 :

A DIT (R : B. ®zo e g C. 8Boors . D. eol® LZ)S%’
DB DIPEFTRQ), DOTHT DI & ,

€1
(1) C,A,B,D (2) A, B, Dig™ @3 C,B,AD (4 B,D,AC

Which of the following statements are true in relation to national income in India ?

A. The first official 'estimates of nati l'g'al income were prepared by the Ministry of Statistics,
Programme Implementation. :”’

B. The first official estimates of national income were prepared with base year 1948—49 at constant

- prices.
C. The estimates of national income published in 1956 were known as the conventional series.

D. National income under the title conventional series was published till 1976.

Choose the correct answer : '

(1) B and C only =2 (2 A/BandConly

(3) A, C and D only (1 (4 AandDonly

ESTS 2rROSrErasT8 HoDOHOD Lgoéfé’gmsoé‘ DD 2] ?

A. Tnd) Tndde3 erS0SrEra @OTTOD Ker08, HHSE 95060 O § TP SATE TS,

B. 308 Sncsed e0O508 2 airTrod 0BT O 1948-49 BGTE DO JB0S SASTL TF.

C. 1956 &° |H0B0DS 2SO OD @Ozﬁ&‘@cﬁ) H0T0% (363 (conventional series) e9Q DV CD.
D. Sodmrah (36 Do 2rBArerasr) 19765 $058100 S65 (HiOoLeo 2006,

OB VST, DOTHT DS : :

(1) B H8asn C Sreledad (2) A, B 805 C Sr(ehsd
3) A, C X805 D S 4) A DON D Sr(ehed
ONG)

(10) [O8




31.

32.

33.

[r]

(2) Band C only ¢
Ja?éoﬁrwob’c‘bé 502208 only ©< (3) Cand D only

o imary goal of the Indian Gy
Which of the following is not the pri;entive Jevel ?

Policy, which has been fixed at an in : e S
(1) To enable the poor to buy foodgrains a i the farm sect
(2) To induce more investment by the farmer o

(3) To enhance production, thereby increasing farn;;isctlizcozne.

(4) To motivate farmers to adopt improved Cl:gp;gé LKJZSJI; e(;hg‘?logies_

1Bod TES’ O &I T’ QEOWODN 2 DOS SA Lu¢hesy 58 oms .
? 0

3?25%&;@@ 3 B 56 C.S"E‘SO‘E? g‘&ﬁ;@ S_ﬁ‘:’éi@ Wrcheyo,

@) D550 Sofiod EEen 8 DEYREG DY A0 (B0,

(3) &SIV OO, ST So° FZHO lalorV;Sh) @015690-_5 .

(4) DOBRS DO e )B r0SBTSD §Q§>w§c‘3’ DO [RTDOBE0,

Match the following List-I with List-IT: oy

®rnmepyp .
§ Mlmnmm Support Price

List-I List-II |

A. Gross National Product I. Net Domestic Product at market prices 4 Depreciation
at market prices \ ; .

B. Net National Product at II. Gross Dox’ne‘stlc Product at market Prices — Depreciation
market prices ol

C. Gross Domestic Product III. Net National Product at factor cost + Indirect taxes — Subsidies
at market prices

IV. Net National Product at market prices + Depreciation
Choose the correct answer :

(1) ATV; BIIL; G-I (2) AL B-I; CIL (3) A-L; B-IL; CIV
808 ORI S @070 OP-IT S @oTed 2SHSI :
O S oS

A TS GOOS' e TSI L “AroyS Sdo S JES BITrsIS + Shhde

B. 5B Q60S Q88 8Trd)8 I “SrdyeS ddos e BITrs 1D - $&HHde

C. Sr0peS Q8 re BITres)d 111 {&S)8 5850 PO Sars V&G erSTWre) + HEY,
) [ 2;?3;00 - O YAen '
V. s

&

(4) A-II; B-IV; C-III

B35 B8 LS 2rATred ) + SDHSO
QB DSFETTR) DOTHEESW ;

(1) A-IV; B-III; C-I (2) AL BL CII (3) AL BL CIV (4) AL B-IV; C-lII

Which of the following statements is/are true in relation to national income ? _
A. National income calculated with a base year is known as national income at constant prices.

B. National income estimated at current prices is not inclusive of price changes.
C. Dur.mg war period, national income ig estimated at future prices also.
D. National income divided by t

Otal 0 ul b e . . 'Ome-
Choose the correct answer : Population gives personal inc

{1
(1) Aonl = A and D only
e 4 A

00(6 go& "‘ « .
A 6078 50583508 wog ar o SRS DO/ 2.0 7
B. D& &8 o

inclusive),
C. s =t
D. wéiﬁr;ggiﬁ?gal g DS @8.;3655 Sy eosT ST "
v, " — 2?3'5 = é@o )
OO DIPTTR) 0S80 : TN 3585 (ZaHg) esO . N
(1) ASres © 4 @ D S8y

O I

B 8oty ¢ SrSH @) oD PG

o
o]

v
3
L

[=]
7



34.

35.

36,

(%]

Which of the following statements are true in connection with the production of crops in Ing;
2021-22 (Fourth Advance Estimates) ?

A. Telangana was the third largest producer of cotton in India in 20? 1722.
B. Uttar Pradesh was the largest producer of total foodgrains in India in 2021-22.
C. Telangana was the largest producer of maize in India in 2021-22.

D. Madhya Pradesh was the second largest producer of wheat in India in 2021-22.
Choose the correct answer :

(1) C and D only
(2) A, B and D only
(3) A,B,Cand D
(4) A, B and C only

2021-22 (F"RS SO e90tITen
DB ?

ain

P

) & wééﬁ%oeﬁﬁf%omo )88 HooHOD 1808 TgPses A7

s

A 2021-22 S rES$THoS 5O @SB’ Berorre c.:@go Q"CEs @& DY G )BT S0R0A.
B. 2021-22 & 23 3B¥0eS estsies D50 &3 )BS GBS (HNTT 08 DY &S IBTET G008,
C. 2021-22 & erES$B50 Besorre ®©& DS mé&eﬁ"él &SSO 0RO,

D. 2021-22 & g8 8BS0 Fesresh G586 A0eSs L;’af@f? B0 8D & 1B T S0AR0D.
N8 QSR DOTDE S - £

(1) CHBaw D Sr(ehsh
(2) A, B DBA5 D Sr(¢s
(3) A, B, C 08050 D

4) A, B 805 C Sr(e5shH o

" B2

As per the final estimates of production of major crops during 2022

—23 in India, arrange the
following crops in descending order based on estimated production of the

given crops :

A. Pulses B. a-;’ﬂ(;)ilseeds

C. Maize D. _:,-~.(!30arse cereals
Choose the correct answer : . 4 E-"l-'-\

(1) C,B,A, D v (2) :\;b, C,A B

(3) B,D, C, A (4):D, B, C, A

rESTIoS” 2022-23 eS‘ DS D0 Gres e TInE) SO eotdT e D580,

1808 Doererss 98 Hoe
OIE), 55 1B eI @SB (50 e85 :

A D) IOV B. &S Hozen

C. JnHEsyen D. . a0 Sy sen
VTS DIFETR), DOTHE M : N

() C,B,A,D 2),.;D,C,A,B

@) B,D,C, A 4) .D,B,C,A

4

In India, the total foodgrains production (in lakh metric tonnes) in 2023-24 (second advance
estimates) in kharif season was estimated at about':’ ’

(1) 1586 2)' 1481
(3) 1508 (4), /1542

TESTIOS 2023-24 (BOGBS SHOSKD BOUVTeN) PED D230 OTIT FOHDAN Tho e AR NIIS
LA (©F ¢35 €3e0)0") AT :
(1) 1586

(2) 1481

®) 1508 (4) 1542
B9
(12) B



37.

38.

39.

atsifare true With reBard 0 diggg o
tric enabled digital service for Pensiop in Ingig o

Which of the following stat'emc
A. Jeevan Pramaan is a biome

(~ P
hoose the correct answer : 1 Ao
(Cl)o;s"‘“y @ Aonly “83) s therAnorB (g po Aand B
2885506 ABLS DIOK 4020800 1§08 TSDOS” B/ 2,57 :

V. =5, !
A E35DES ©TO DIS THON SJCSQE{%&S@)L&% 36 %y
B, A8&S 20805 HES)2019 5} @"505300{:_‘-
JBN DT DOTHTRDD © -

o
(1) BIrEH @ AsnEd P ADODBBGrsy ) 4 5605 5 50

Which of the following statements are true in re?lation to the industrial policy resolutions in India ?
A. In India, the First Industrial Policy Resolution was announced in 1948, '

B. In 1948 Industrial Policy Resolution, it was stated that arms and ammunition, atomic encrgy
and railway transport would be the monopoly of the Central Governme

nt.
C. Another industrial policy resolution was announced in 1956.
D. In the Second Industrial Policy Resolution, all industries have been classified under five

categories. - ’“:“‘
Choose the correct answer : f\@
(1) A, B and C only ©{2) B, C and D only
(3) A and D only <) A BandDonly

rESTI0S” BT WE DTS BT éozoo(%‘q{.) 1808 530S D ) ?

A ESTI0S, I FOTDE TS éc»ga?ﬁl 1948 &' (D530 .

B. e0rren HOOH Hodok, enis .;3)66’11) DB ST TolE (DS 3 DT I0M LOEraHI
1948 T8 D5 A0S TH)e0 26808.

C. 208 rOEWE DTS BT 1956 ¢° 1HEE305¢50 26A0O.

D. B0t FOTWE Derd 805065 HOFHO) 0638 D S6HsrenT 8608

OB STTRTR) JOTHEFDE :

(1) A, B 2805 C S

(2) B, C $00% D Sr@ad
(3) A B0 D S

@) A, B 805w D (@D

Which of the followin : W
) g statements ig/. Y 3 the
Economy Survey 2021 — 99 , 1s/are correct with regard to

2019 —'go.o ! the Gross Domestic PrOduCt‘ii(GDP) was contributed by
B. Hotels ang touris "4

C. Defence and pub)j k> erviceé‘ sector.
Choose the correct a

services sector in India as per

the services sector in

(1) B ol d B onl

A 2019 “)2 5;? 21222 9960 r 8o S0 6) g 0600 80 mlie;&o&. L

B 3“&5,)(;)6 “y‘c)va%&"é‘ﬁ@é‘ (GDP) 05\32,52) wzwfi\)o?oﬁé oS 0B

C % A HO"56380 Zygey Soocst ©ome

B35 09 80 60ty 58 g g

=0 OITTY) 0, O 2780 s

(D) B Smes A BN B S

E (3) A, B ;,5)5 @3‘@
BN



40.

41.

42.

Arrange the following crops in ascending order based on the minimum support prices (in ¥ per
quintal) of these crops for kharif marketing season 2023-24 :

A. Jowar — hybrid B. Paddy-common C. Maize D. Ragi
Choose the correct answer :
(1) C,D, B, A (2) D,B,C,A 3) C,B,AD 4) B,C,A,D

2023-24 DED 50ye300 w0 E5HD éo@éo cSéo (Eohos” 19 §sotrend) egrdor (S0
DOOOD BTTET 50065 €08 1M : :

A T -DE B. 38-08m O JHESY, D. o%Hew
R0 DT DOTHETDR :
(1) C,D,B,A (2 D,B,C,A ;_'_(3)CBAD 4) B,C,AD

Which of the following statements is/are true in relation to agriculture labour in India (as per the

Annual Periodic Labour Force Survey Report2021-22 and also broad industry division based on
National Industrial Classification — 2008)? &2

A. Percentage of male workers in agriculture sector was less than the percentage of female
agriculture workers.

B. Around 70% of total agriculture workers were female.

Choose the correct answer : :

(1) B only (2) Aonly (3) Neither A nor B (4) Both A and B

Q8 @30 5208 3§ DT ATOE 2021-22 SO 20D FBFWE SOEGe — 2008 D SETEHRS IR
DBFDO DS (05780, 23rESTF0S’ 55 °0% s"bgé $88 HowoHON 8od a',ggogoeS‘ DO/ ey, ?

A. égé@‘oﬁa B0K0eS HBA 8508 TS50 3500%" 59D 578500 TS0 B0 5KV SO,

B. QO3S 70% S§Sradd 528506 (workers) sﬁ)or%::o

AB N QTR DOTNT D :

(1) B 35D 2) A SreD ). (3) A DO B DOy 5°%)  (4) A HBAS B Bodky
Which of the following statements are true in relatlon to irrigation schemes in India ?

A. With an aim to enhance physical access gf water on farms and expand cultivable area under
assured irrigation, the Central Government launched Pradhan Mantri Krishi Sinchayee Yojana
scheme (PMKSY).

B. Har Khet Ko Pani is a major component of PMKSY.

C. Surface Minor Irrigation scheme is a sub-component of Har Khet Ko Pani.

D. PMKSY was launched by the Central Government during 2013-14.

Choose the correct answer : | .

(1) A, C and D only - #(2) CandDonly

(3) A, B and C only (4) BandD only

2rESTI0S HE3 FESO PO H0220H0N (808 TS’ D 2.5 ?

A S350 ZBrSnerdd ai"@éon' %0y 02N God JHOM LIl OO D BSDAS D3
TS 8o th RGO DRBOT oggoé‘ Lox;m 0@ Ey Voo Trad (PMKSY) HHSR)
Bol (52505 50 (FE0DOV0A.

B. 5ETSE D IO PMKSY & 2.8 (D5 a,Mo

C. &HBee> DD 3 FBOO JGE0, b P& §‘ 2 HE¥o ° 2.8 & aro.

D. 2013-14 ¢5° o (2205 50 PMKSY Q (2§02 000d.

DB DEFER), DOTHT D ! |
(1) A, C 8050 D Sr(ehad (2) C B0 D Srehsd
(3) A, B B050 C Sr(had (4) B 8050 D Sr(ehsd

(]
-
&

(14)

@.




43.

44.

45.

In the national income accounting concepts, any excess of tax revenue over government spending is
called :

(1) Public deficit (2) Public goods
(3) Public expenditure (4)  Public saving
TS T 030N TSSO, (HDS S S50HO LoD @HZOM™ &) B THAD IHD HeVIE ?
(1) (Do Sew @) DT SKHen }
(3) (02055 S509H0 -(4) D25 ey
Match the following demographic indicators of Indxa with their rates :
Demographic indicator Rate .
A. Infant Mortality Rate in 2020 1. 237
B. Birth Rate in 2020 II. 60 e
C. Death Rate in 2020 III. 280 |
IV. 195 .
Choose the correct answer :
(1) A-IV; B-II; C-1 (2) A-II; B-I; C-III
(3) A-III; B-IV; C-II (4) A-III; B-I; C-II
1808 2r8STF 2T 2TIERS A ¢3 TS 23T :
ET2TVES ) ' Jév
A 2020 S 0 DdeTe Bew I 237
B. 2020 & 2370 Bew 1L 60
C. 2020 S SoSere> Bew oL 280 .
V. 195 .
DB SSFPETETR), OTHEDS : o
(1) A-IV; B-II; C-I f(2) A-II; B-I; C-III
(3) A-IIL; B-IV; C-II {4 AL BL CII
As per 2011 population census, match the follo[yﬁng states with their respective population :
Name of the State Population'(in lakhs) (approximately)
A. Nagaland I. 30
B. Arunachal Pradesh II. 11
C. Mizoram III. 20
D. Meghalaya V. 14
Choose the correct answer :
(1) A-IV; B-III; C-I; D-II .(2) A-II; BI; C-IV; D-III
(3) A-L; B-II; CIII; DIV “4) AL B-IV; CIL DI
2011 BT BE)e (D5°G0, (808 T a7¢3 aarcS‘ 2385980 o :
ovsi0 DD 22 (O ) (DLredrr)
A. arerod I 30
B. e@®rdS (085 I 11 3
C. ET L 20 -
D. Harecd V. 14
$BS DEFTTR, DODE T : *
(1) A-IV; B-III; C-I; D-II (2) A-II; B-I; C-1V; D-III
(3) A-L; B-II; C-III; D-IV (4) A-III; B-1V; C-II; D-I
(15) L)




46.

47.

48.

Which of the following schemes are implemented in India to reduce population growth ?

A. Accredited Social Health Activist (ASHA) scheme
B. Scheme for provision of Pregnancy Testing Kits

C. Mission Parivar Vikas
D. Clinical Outreach Teams (COT) scheme

Choose the correct answer : ‘1 )
(1) B and D only ;}('2) i and Gionly

(3) A,B,Cand D (4 A,CandD only
2rESTIOS By DHIHGOD SHOWEIS 08 HETOS” D elen Babagrow ?
A 5003 F0BS FSrBE ety SEEE HEF0 (_'Aé{HA H5%0)

B. #15) D68 8 Jomem Do L

C. AS N8B ISR g
D. 8% T eSS €30 (COT) Hd%o '
DB DIAFPTTR) DOTHFDAW

(1) B SHOAK D Sr(ehad

3) A,B,C 80D

Arrange the following states in descending order based on their population in 2011 (as per Census

(2) A SDHOD C S5
4) A, C B3 D S|

2011): 6‘?‘
A. Bihar B. Tamil Nadu C. Maharashtra
D. Uttar Pradesh E. Karnataka o

Choose the correct answer : \:J

(1) D,B,C,AE Q(%) A,B,D,C,E

3) D,C,A,B,E r(f%) - E,C,D,B,A

2011 &' Bfr O(FO 2T (2011 0T BRHOITE0) BEEOM (808 TEFOSH ©IETE Ehod
93508 )50 .

A D56 B. S¥ch C. oD
D. &8 |1H5% E. ¥gre¥

QR QRATET V), DOTHE DS :

(1) D,B,C,AE (2) A,B,D,CE

3) D,C,A,B,E e i
The rate of natural po i i '

: : pulation growth in India" . L
despite an increase in absolute number of por;:‘llﬁ;fil:: ob‘?v?ggsl::édlly declining since the early 1980s,

(1) The falling of birth rate was slower than death rate

(2) The falling of birth rate was faster than ¢ .

(3) The .mcrease of birth rate and death rate wa{é?almost S

(4) The increase of birth rate was faster than déﬁth rat B
leath rate.

BT 0DIS” DHHSe &y %
(Svorr eipes NTAR ol @odaél\:)(?f ig;sgg é?g%’_?ﬁo 0B 2rSSToS JIrs BTy DO Bew

(1) Déere Bew 0T TBMT 257> By &5

(2) Ddere> Bew €0 SKorr 2ITO Beéy éﬁdﬂdo.

@) zSTe Bew, HSeres oy oo 2.8 X)csnon"o'

4) Do Bew 808 SKorp BIT© By 2—)66;2055@0-

eiii;li‘l rate.

Ll o



49. Which of the following statements is/are true in relation to the agriculture sector in India ?
A. For 2022-23, the Central Government fixed the agricultural sector credit target at around ¥ 185
lakh crore.

B. Central Government launched income support scheme for farmers through Pradhan Mantri
Kisan Samman Nidhi in 2021.

C. Pradhan Mantri Fasal Bima Yojana (PMFBY) was launched by the Central Government to
address the problems of high premium rates of insurance for agricultural workers.

D. In 2023-24 Union Budget, around ¥ 2 lakh crore was allocated to the agriculture sector.

Choose the correct answer :

(1) Aonly (2) A and B only

(3) C and D only (4) B and D only

2T OSTH H55 D SO HOOHON (808 T 55O’ DB/ 2,89 ?

A, 2022-23 HONSITRS e, S0l Laaﬁ)égo Q03 18'5 ©F @ §¢) SraraDerd S350 S0t HBH

& 50 AZoWOD0A. 3
B. 2021 & (DS 0| SRS DS A 0‘50‘* TO( (D20 S0 S5SNI ETFO s DG
ExyeerAleAle]AN <

C. SsSAH 0O DIFE HODOHOD IERST &) 1HWAHO BEY H0H5 62280378 Foles
192965 50 (DETE0(E HIS Dl Tresed {PMFBY) DA, (B0DOV0H.
D. 2023-24 0[S 2BE S, 03 T 2 ©F© s‘eoéa S50 BOTAE BeronoT .

QBN AIFTTR), DOTDS RV :
(1) ASreDd (2) A SO B S(edad
 (3) CBAM D Sy (4) B OO0 D &Sr(edad

50. Which of the following statements related to agncultural marketing in India are true ?
A. Electronic-National Agricultural Marketmg (e-NAM) was launched in 2016.

‘4.‘|

B. A Central sector scheme named ‘Formatlon and Promotion of 10,000 Farmer Producer
Organizations’ was launched in 2023. "‘15'

C. To address the issue of transportation bf iagricultural produce of farmers, Government of India
launched Kisan Rath Mobile App.

D. Through the Agriculture Infrastructure Fﬁ‘nd, the Central Government is providing medium term
loans only, for post-harvest market infra;g{g;j'ucture.

Choose the correct answer : )
(1) B and C only (2) A and B only
(3) A and C only (4) A, CandD only

2rESBIOS” S50 577833050 H00HON (80O 5w D 2.5)) ?
A, OFIE - FASS @980 5383 ¢30R (e-NAM) & 2016 & |rS0doc .
B, 'TTRAS @08 (IS e 10,000 S8 FERIE esdTEASY ©F Soled (9SS HPsR) 2023 °
BrEodoT . (=)
C. SSTADTHOH HDODOHODS égéir'cﬁ;s GBIRND ST DIIOD DBILB0ErDE, 2res
(020¢8 50 8IS 85 INBS AT Lir’doi)oao&

D. 50& &r8)& (harvest) 5o s @éﬁcoéxnaiag By SFOE IV TEH, Tl (DZDBL0 S5 A%
FOE S B T 3T° D5 OY amsfa"e)éo S5 oBNOB.

QOB DIFETTR), DOTDTESW : £t
(1) B 0805w C Sr(edad ¢ (2) A OO B Sr(had
(3) A HBAW C (b 4) A, CBOM D S

& ﬁ‘@
D‘Mh

(17)
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\ 52,

Consider the following Assertion (A) and Reason (R) in relation to Telangana’s Overall
Performance — Composite Index Score (as per Healthy States, Progressive India, Health Index
Round-IV, 2019-20, prepared by the NITI Aayog ) :

Assertion (A) : By 2019-20, Telangana had improved its rank among l_arg?r states in relation to
overall performance Composite Index Score compared with its overall performance

Composite Index Score in 2018-19.
Reason (R): In 2019-20, the overall performance
around 70.
Choose the correct answer : )
(1) Both (A) and (R) are true, but (R) is not the correct explgnatx;xg :)f (A).
(2) Both (A) and (R) are true and (R) is the correct explanation o .

(3) (A) is false, but (R) is true.
(4) (A) is true, but (R) is false.
SO TR0 IS0 HQ B - ¥
(R) (520t (A& esTTh SreroQo, e—s&‘(ﬁgb%é;@
i e D Tdo HIBB WFD JrD A6 FO 158 )

D50 (A): 2019-20 T°¢38, BOred 2018-19 © ¢ 0| |
@ IS0 DB DFSD D %?,6@ H020800 DY olaresS &S orgoSad

TEOBEDBE0E. : .
50 (R):  2019-20 &S, 8©0ITEd T°( QO 3»{.{*-0,3{‘036) F0 D Qe edrdd 70.

DB HITETRR), DONE TOSW : \: |

(1) (A) OO (R) BOET 252, 5% (A) 50 (R) SO ST S°EN.
(2) (A) O (R) BOT 2ua)) LB (A) 50 (R) fo@@é DSB€D.
(3) (A) &), 5°Q (R) 250). &)

4) (A) 2)), 5° (R) ).

Composite Index Score of Telangana was

3 AFOE DenSE S020H0DS (808 (GIDESE (A) SO TS
&S O areD, DB orEe, esdiis Ard T'o& - 1V,

Match the following health indicators with the value of each indicator in 2019-20 in relation to
Telangana (as per Healthy States, Progressive Jndia, Report on the Ranks of States and Union
Territories, Health Index Round-IV, 2019-20, prepared by the NITI Aayog) : ’

Indicator Indicator Value
A. Neonatal Mortality Rate (NMR) I. -»:96-3
B. Under-Five Mortality Rate (USMR) IL. 630
C. Maternal Mortality Rate (MMR) I11.~i47.4
D. Institutional deliveries (%) IV,’\': 130-0
V. (“;19-0
Choose the correct answer : pe
(1) A-V; B-IV; C-II; D-I (2) A-I; B-1V; C-II; D-III
(3) A-V; B-III; C-I; D-II (4) A-IV; B-III; C-V; D-I

@oomspsnséoaao@oa 808 e85 ArDEOD, 2019-20 ¢° (HB HrDE DendS SIS (D earhH
SArD TS eOMHoSDS TTFen - HETXH or6S, oraren HOCH Tol FOS (oo
NOROBODS T30 NS DBGY, ebiis &rd T°0& - 1V, 2019-20 (95°80) :

ey O DS Devas

A Sed 39 SHdere Bew (NMR) &) L 963

B 2% S08¢ yorer Sothin) §0T 3%y SOBIS’ e Bew (USMR) - T1. 630

C. O3 m8erer Bew MMR) o I 474
DSOS @aren () J V. 300
e 0 V. 190
0 vy 2,006 oty
® AV, B, ob D (2) A-L B-IV; C-II; D-II

I CI 1.
o (4) A-IV; B-1II; C-V; D-I

(18) Uit
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54.

55.

56.

In which of the following Telangana districts was the Crop Diversification Index Value more in
2021-22 (as per Telangana Socio Economic Outlook — 2023) ?

(1) Wanaparthy (2) Vikarabad , (3) Suryapet (4) Peddapalli

& 808 8o BT, 2021-22 & 9 awes‘ DOE VA0 IrD eSS DHEIT G0 (BOME
a3l &% SoDS0 - 2023 (HSB0) ?

(1) S328 2) Jsoerd (3) :(15*0*5?065 @) DD

In which of the following districts was the total area cultivated under paddy crop in Telangana in
2021-22 the highest ?

(1) Suryapet (2) LYadadn Bhuvanagiri
(3) Karimnagar (4) leamabad

& 800 BTrod, 2021-22 & Sworsns $6 Hoe @6(5 &) Bwdo D IAGo & BTS e@dsorr
God? 1

1) droges ©) {gﬁyw@ aﬁaééﬁé
3) $Bosub @) ‘Drsrerd

Which of the following statements is/are true in relation to the agriculture and allied sectors in

Telangana (Telangana Economy, Government of Telangana, Provisional Estimates 2023) ?

A. Between 2021-22 and 2022-23, the agriculture and allied sectors achieved more than fifteen
percent year-on-year growth rate in their gross state value added (at current prices).

B. The gross state value added (at current pnces) growth rate of agriculture and allied sectors was
around 18% in 2021-22.

Choose the correct answer : Wt :
(1) B only (2) Aonly (3) I\lTelther A nor B (4) Both Aand B

BOOMRES SESTODH OO DO BOMOF J0ROHOD 808 FIWIOS IO/ 2)) (BLOrre
A5, BOOMTE (D208 50, Ty OF evodaren, 2023 Losswﬁo) ?

A. 2021-22 N80 2022-23 DG, S5draAD 28050 c—lscé)a)ocﬁ Borren 2578} D0X T8, ke TR
e HAOHES® (PN BEOS) HETFD TS0 E0TI DERS SHB FGoTrow.

B. 2021-22 & 555009 8GN 980208 Sorres Jrd TR Dend B0 (HXVS SSoe) SyO Ben
TS 18% G080, ¢

DB DITFETRR), DOV : 0
1) Bar&D - 2) ASr|S$D (3) AOBAN BTOUr Sy (4) A O B Bodkr

Which of the following statements is/are correct with regard to the Rythu Bima scheme that was

introduced in 2018 by the Telangana Government ?

A. The age group of farmers eligible to enrol under the scheme is 21 years and above.

B. The insured amount is ¥ 5 lakhs.

C. The scheme is applicable to the farmers who have.up to 10 acres of agricultural land.

Choose the correct answer :

(1) A and C only (2) A Band C

(3) A and B only (4) Bionly

2018 &’ Be0men (D200 (HBFES Do HIr HPSVE K020HOD §08 g5’ DB/ ) ?

A. & 5650 808 ST SHErE e0des, S3SrANETHRS HADDY 21 DOSSIT°eN HOAD @0 ¥ty
228 Gomd. I }

B. Dr 3wdo T 5 ofew.

C. 10 %070 HBEY 590D N ¥R &) égéﬁ)‘o‘i)wd)oé\) &3 DRE0 S8 0.
OB DIFEFTR), DODE TASV :

-

(1) A B0 C S7(edad (2) A, B OO C
(8) A B B Sv(ébad (4) B Sr(edad
IONID
e e
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Which of the following statements related to area under different crops as percentage of gross sown
area (in Vanakalam 2021-22) in Telangana (as per Telangana Socio Economic Outlook—2023) are
true ?

A. The area under paddy was more than 40%.

B. The area under cotton was more than 30%.

C. The area under maize was more than 8%.

D. The area under soyabean was less than 3%.

Choose the correct answer :

(1) B and C only 38 (2) A, CandD only

(3) A,B,Cand D @ (4) A,BandD only )
(BOOMm Fras ed8 SnPASO0 — 2023 {H5°80) Seoomreads (2021-22 a‘a‘yoqu‘) roor DedTren
B3 RGOS DS Hobrer 180 &) Do TERE S0 808 FEWIOS” DD 2 ?

36 H0e (80& &) DNFO 40% S0 HF0YIT GOO.

58 506 1808 &) DAFO 30% LoD Fop S 508,

T0EED) D0k (808 &) DRFO 8% FOL DEST OO

. FOsr %0y D0 808 &Sy DRFO3% L0 ST &OB.

DB DIFETIR), DOVE TR o

(1) B 00050 C Sr(ehad © (@ A, C 830 D S
(3) A, B, C O™ D  (4) A/BXOAW D S

Dowp

Which of the following statements is/are true in relation to Rythu Bandhu scheme in Telangana ?

A. Rythu Bandhu (Investment Support) scheme was launched in the year 2019.
B. Under this scheme, initially an amount of ¥ 12,000 per acre, per year was given to owners of

lands. vy -
Choose the correct answer : Yy
(1) B only (2) Aonly %Y (3) Neither AnorB (4) Both A and B

BO0OTRS’ B 206 HETIE H00HONE0S s seres’ DE/DD 2.3 ?

A. D& 20D (EPDA DHS) HEEO 2019:5058)508° E0DOBDE0B.

B. & D650 (808, 1803506 25D om(a:jnrmog\a DS JET°H, (DB D0SSIB0 T 12,000 25580
28804. ,

9B AT, DOBEKSD : L] _

(1) B3r&D (2) A ST t’; (3) A DHOAD B BOEr 5% (4) A SHOAS B Bodss

As per the All India Report on Agricultural Census 2015-16, which of the following statements are
true in relation to irrigated area in 2015-16 in Telangana ?

A. The gross irrigated area was around 19-59 lakh hectares.

B. The gross unirrigated area was more than the gross irrigated area.

C. The net irrigated area was more than 75% of the gross irrigated area.

D. The net irrigated area was more than the gross unirrigated area.

Choose the correct answer : -y
g; 2, B and C only © (2) B, C andD only
, Cand D only i (4) B and D only

2015- ' ¥ LY

. %5 ;06 SESTAD BHOK H00HODI - 8S B0AAE JIHY (O5°60, 2015-16 ' Beomnd” AMd
> DTS 020800 180d 530S’ A &%) ? "

5 'O M DVFo S 19-59 e e TFbenrr ¢od.

> ;%;" g;w DHS B dyPo, e R HIDAGO E0E DKoy ST 0B,

s @;: gggo, et VGO’ T5% S0y oS S0B.

it W20, oo FHeS B Dy

S03 SSrerany ol =5/ QNP0 K0Ty &0y ST GOA.

(D) A, B 5805 C dmeszh

(3) A, C 8% D S s (2) B, C 00050 D &r(ehad

(4) BB D Sr(ehad

F10
£5

(20)
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61.

62.

Consider the following Assertion (A) and Reason (R) : .
Outlook — 2023) : : (as per Telangana Socio Economic

Assertion (A) : The total growth rate of gross state value added of agriculture sector in Telangana
(at current prices) in 2022-23 (provisional advance estimate) was 16 percent.

Reason (R):  The total growth rate of gross state value added of agriculture sector in Telangana
(at current prices) in 2021-22 (provisional estimate) was more than 9 percent.

Choose the correct answer :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) (A) is false, but (R) is true.

(4) (A) is true, but (R) is false.

(B0 Fare3s e SIS0 - 2023 H5°50), (8OO BDEBD (A) S8 S8R, (R) DBHJotHSW

SIS (A): 2022-23 (5708 00BN BOST) S Beroree Hisdah Soto T e Tl
DN D0 T0E), (Ve HBHS’) T $9B Bew 16 TS0 Gob.

2021-22 S (587, OF ©0oST SO0 SiSrab 060 TBoE), e TR end HO0DH

TR0, (DS SBOES’) IGO0 SO Bew 9 TS0 L0 KRS &OB.

$BN DIFTTR), DOLHTES : R

(1) (A) B0 (R) BOAT 2,59, S (A) § (R) 58S Ddea .

(2) (A) B (R) BOGT 2,2 HOC (A) Ko (R) HOBS D36,

3) (A) $3), S (R) 25). L oF

@) (4)2:3) 5 (R) ). e

LS

Arrange the following years in ascending order based on the contribution of agriculture sector (as

percentage) to gross state value added (GSVA) of Telangana at current prices in each of the given
years, as per Telangana Socio Economic Outlook — 2023 :

500 (R):

A. 2019-20 (Second Revised Estimate) B. 2020-21 (First Revised Estimate)

C. 2021-22 (Provisional Estimate) D. 2022-23 (Provisional Advance Estimate)
Choose the correct answer :

(1) A,D,C,B (2) B,C,D,A 3 ABC,D 4 ACB,D

SO T2 @0 S0P V(S0 - 2023 (H5°EE; (800 S0IS TS (DA S’ oorsn re TR

JeNd DAY (GSVA) & 55508 Solo w&s;;(;avéoes‘) s30T 1808 H0ISIT O s (S0
0% ) : -

w 8

A. 201920 (BO&S HHBODS GOTI) B, 2020-21 (R DIOODS ©OIT)

C. 2021-22 (&0 @odw) <D, 2022-23 (@8O8 SHOSY ©OTIR)
DB DI, DODE DA : I

(1) A,D,C,B (2 B,C,D,A “.'(8) A,B,C,D (4 AC,B,D

Which of the following pairs related to size class of land holdings (acres) and the percentage of each
size class of land holding in total land holdings in Telangana in 2015-16 (as per the data provided in
Telangana State Statistical Abstract — 2022), are correctly matched ?

A. Marginal holdings : Around 69% -

B. Small holdings : Around 24%
C. Medium holdings : Around 7%
D. Large holdings : Less than 1%

Choose the correct pairs :
(1) A, B and D only

(2) A, BandConly
(3) B and D only

r . (4) Cand D only
@oorrn T D FEVES 05§ — 2022 Siadbd dTodo 1H5°80) 2015-16 & Seoreest
ErENTO SOHS (DETOS’) HOK e

30 Zrspmed’ (K8 FrEHS0 SE68 TS $020800
18ob 2&eS’ D HOM 2aTFovardron ? | Le oS

A &IOS ENTED  : IFS 69% o3
B. D) Sdeen  : nsrd 24% <]
C. DABE0 Edveren : DrSrSs 7%
D. 2 ESveren D 1% 50T ¥y L
DB BB DODE TS : [

(1) A, B 50050 D Sz

i
042 A, B B C Sriehad
(3) B 0B0%0 D Sre(ebadd

(@) C B D S

(21) e

DR



63.

Which of the following statements is/are true in relation to Information Tichnology / Information
Technology Enabled Services (IT/ITES) initiatives-of Telangana Governmen.t 2 i
A. Through the growth in dispersion (GRID) policy, Lh.e government provides specia 1(;1ccn ives to
the companies that expand or set up their units within the western part of Hy@era.ba .
B. The Government of Telangana released its second Information and Communication Technology
(ICT) Policy in 2021 to provide various incentives to I'T/ITES industry.
se the correct answer :

8};0}% Snly (2) Aonly (3) Neither Anor B (4) Both A ind B

SOOmR TR (D2Deds0 A0, K)m‘tgsé OTBES / DS oSBEh es5rded S (IT/ITES)

SEETIOR JOVOHON (08 DS’ DA/ 20 ? ¥ i

A SHO AV (dispersion) DFSO (GRID policy) c §O°, 20° 28 DS [rosos” JNBoT B
QTYED TR DOPO (D2 50 (HS;E (HFe)arsen @odN0B.

B. Jrmrd RroSBES/I8TTS roSBES errdd DI HOFDE DAY (e )rsen e0B0ErdE
SO (D250 BOKBS DTS 85D §2&r53§§a5 F0TBES (ICT) Drard), 2021 & Jrdved
T0A. -1’:’:;

R0 ATETR), DOTHT DA : P

(1) B Sredad (2) ASreD (B)) ANOOM BBOULr sy (4) A OO B Boky

Which of the following statements are true in relation to tourism circuits in Telangana ?

A. Bogatha Waterfalls are a part of tribal c1rcu18tﬂ _

B. Akka Mahadevi Caves are a part of heritage circuit.

C. Somasila Reservoir is a part of eco-tourism circuit.

D. Mallur is a part of green tourism circuit.

Choose the correct answer :

(1) B, C and D only (2) A and D only

(3) A,B,Cand D ' (4) Aand Conly

SOOTRS’ HT°568 (HBT (circuits) HODOBODS Bod 550’ DD 2y ?

A 51 sodreen AB2S (DBYO0 (circuit) & 2,8 2rK0. :

B. %) DETD Diren TEIS 5 (DTH0 (cireuit) &* 2.€ artio,

C. IO 2rIADNO HO™55BE-D075rE (DBF0S (circuit) 2.8 2780,

D. B 5r8eh Homgerd (DTHO (circuit) ¢ 2,8 >0

OB AIFTR), 0D Tk : |

(1) B, C Hdaim D Sr(evsh (23'?.

A D8
(3) A, B, C 85w D ol o oy

(47; A SO C S edd
Which of the following statemen

N
ts is/are true injrelation to the share (%) of second tor i
state value added (GSVA) of Tela [ e ary Sector 1n gross
Government of Telangana) ? ngana (as pe {;;I:leangana Economy, Provisional Estimates — 2023,

A. The share of seconda . o
: ry sector in GSV ) .
2022-23 (provisional estimaton). A of Télangana was less thag 20% (at current prices) in

(1) B only (2) A
onl
(So0rre) esy D53, TE) O c-soéy

(3) Neither A nor B (4) Both A and B
T2 dend (GSvA) DO0HS" &8

gtb ~ 2023, Boorrey (9265 50 (05°80) Berorren T (Ho TwE) Are>
23y ? Sofio (ngg, TET (%) 50 H0D0HOD (808 TS’ DA /DD
A 202223 & (evary 0% ©OtSaren) ©)

. T 20% (5306 SSers) S0t ég&%ﬂ‘n‘: ‘g@? %), Yre> ool Jensd HB0YS BBaH Koo
- 2021-22 ¢§° (B05¢3 &')clﬁéoi)é b 0Q.

S0 & & 180% So OSRe) Besorrey O (R0 TBEy W' TR DeS HAOYY (D06
} eSi B89 Soro m"ggefgé’;;"*ggw S8 OMred 073 TB0EY WO DeaS D0 (D0 5B
9 SR, oSSy e =
(1) B Sy @ Asress, |

72

o (3 A 28050 BOOGT %9 (4) A 30050 B Bodkr

i

I A~
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67.

68.

Arrange the following schemes implemented by the Telangang Government in chronological order as
per their launching months and years : :

A. Dharani Portal

B. Telangana Fiber Grid

C. TS-bPASS

D. Mahatma Jyotiba Phule Telangana Backward Clasges Welfare Residential Educational
Institutions Society ,

E. Women Entrepreneurs Hub

Choose the correct answer :

(1) D,E,A,C,B (2) B,D,E,C, A 3)..:C,B,D,E, A (4) D,B,E,A,C
Soorn (HDHS0 B THS 800 IPFODT B DB0DoDS Jeorew, .HoISITe (HSE0
SOEITOI S0 @S I0A (&)

A B33 QS o

B. 8oo0rre b (A& ]
C. 8D-DID (TS-bPASS)

D
E

. DS SRy FS BOOME Te0EDAS ééﬁé}éboi& BRBIOHS dg Hode e

. T GALNT O TS (]
DB AIFETEAY, DONE TS : o
(DDEACB (2) BDECA (3)rrCBDEA (4) DBEAC

Which of the following statements are true in relation to power sector in Telangana in 2021-22 (as
per Telangana Socio Economic Outlook — 2023) ?

A. The installed capacity of power in Telangana was around eighteen thousand megawatt (MW).

B. In the total installed capacity of power, the thermal energy share was more than 50%.

C. The nuclear energy installed capacity accounts for about 1% of total installed capacity of power.
D. The per capita availability of power was more than three thousand kilowatt hours (kWh).

Choose the correct answer :

(1) A;B and C only (2)‘3 AandD only

(3) A,B,Cand D (4)©B, C and D only

2021-22 H0HSIS0S’ Beorred IS S0 (ooaro&oi) 1808 a5’ DY ) (BOOMTE STy
e08 A0 - 2023 (DSB0) ?

A. BOOreeS NS TS NP0 DS o@‘&) & o DT (MW) G0O.

B. D080 X0 Db IS0, B8IS 8 3¢ 50% L0 D80y ST G0,

C. BB0 DX05S T Fe0PS0eS, @ENDDSS (nucledr energy) F°Ded 0PSO TET DTS 1% 1 &G0,
D. $038 DS €255 e S0 §S5°a¢S K0Le (kWh) E0T DE0Y ST G0,

NDBS DITETTR), DODE TOWD : - 75
(1) A, B 8050 C S(edad (2) A DBAN D S(ehsdd
(3) A,B,C 8% D (4) B, C B0 D S3(edadd

Arrange the following in chronological order based on year of launching/setting up of these
schemes/academies in Telangana :

A. Amma Vodi Scheme

B. Scheme for Adolescent Girls

C. Tholi Mettu / First Step Scheme p

D. Telangana Academy for Skill and Knowledge ('{ASK)

Choose the correct answer :

(1) B,A,C,D : (2) D,B,A,C (3)“B, D, A, C (40 A/D,CB

B0 808 HEser /st ey (S080/om)ex Ef«oé 0055350 SO ¢3Q SO ST GO
SIS VRNV

C
A, @ 2.8 Hdko J
B. F3r8 83" e erdBe 85 Hedvgo {j
C. SO ep/Burcses enchory HHEo ol

D. S50 85w a0 FEE Beromren eoses Dy (TASK)
QBN QTR DODE A0 -

(1) B,A,C,D (2) D,B,A,C (3) B,D,A,C 4) A,D,C,B

(23)



69.

70.

71.

of Telangana state in 2014-15 wag arounq (&
8

. . o - B a d Ct)
The total principal + interest burden (within budg Department, Government of Telangana) .

per Telangana State Finances — White Paper, Finance
(1) ¥ 4 thousand crores (2) ¥ 13 thousand crores

(3) T 10 thousand crores
2014-15 & BOOMD Tl IS0 eden + 5G 80 RFO SHO) TTRY (BOOTD TR Dgrey s
J|50, D D20, SO (DS S0 L:as*‘éo)“;z,-‘;f

(1) 74305 s (2)

4) TT7 thousand crores

z 13 S0 SV
Q-

(3) 710 Jo &' ﬁ} 4) 77305

Which of the following is/are correct with; ‘gegard to Telangana’s industry and service sectors iy
2022-23 Provisional Estimates (as per Telangana Economy, Government of Telangana, Provisional

Estimates, 2023) ? i

Assertion (A) : Industry and service secto!rs in Telangana together accounted for around 8¢g of
gross state value added (at ¢dirent prices). ‘

Reason (R):  Manufacturing (a sub-sector of industry) alone accounted for more than 10% of gross
state value added (at current prices) in Telangana.

Choose the correct answer : ; _

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true. |

(4) (A) is true, but (R) is false. 2
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